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Submissions to Puzzle 10
TOWN



submitted by : Hunsudoku submitted by : tomek_s
# of Streets = 18, Sum = 24 # of Streets = 18, Sum = 26



submitted by : lukasz6500 submitted by : csell
# of Streets = 18, Sum = 30 # of Streets = 18, Sum = 32



submitted by : EoHeongMat submitted by : qw(014052
# of Streets = 18, Sum = 32 # of Streets = 18, Sum = 32



submitted by : SN Sam submitted by : TiiT
# of Streets = 18, Sum = 32 # of Streets = 18, Sum = 36



submitted by : leoranger submitted by : LauLot57
# of Streets = 18, Sum = 44 # of Streets = 18, Sum = 45



submitted by : FANTO submitted by : anurag
# of Streets = 18, Sum = 51 # of Streets = 18, Sum = 52



submitted by : athin submitted by : Christian
# of Streets = 18, Sum = 52 # of Streets = 18, Sum = 52



submitted by : deu submitted by : EKBM
# of Streets = 18, Sum = 52 # of Streets = 18, Sum = 52



submitted by : forcolin submitted by : Hugo
# of Streets = 18, Sum = 52 # of Streets = 18, Sum = 52



submitted by : jaan submitted by : kiwijam
# of Streets = 18, Sum = 52 # of Streets = 18, Sum = 52



submitted by : panista submitted by : SP1
# of Streets = 18, Sum = 52 # of Streets = 18, Sum = 52



submitted by : thirtyeight submitted by : WA1729
# of Streets = 18, Sum = 52 # of Streets = 18, Sum = 52



submitted by : Mihalich submitted by : scorpprocs
# of Streets = 18, Sum = 54 # of Streets = 18, Sum = 56



submitted by : chaotic_iak submitted by : OlgaShut
# of Streets = 18, Sum = 64 # of Streets = 18, Sum = 72



submitted by : jkong submitted by : Nikola
# of Streets = 17, Sum = 55 # of Streets = 17, Sum = 63



submitted by : Veronika submitted by : karzym
# of Streets =17, Sum =71 # of Streets = 17, Sum = 99



submitted by : BogdanG
# of Streets = 17, Sum = 108

submitted by : JoeHow
# of Streets = 16, Sum = 38

10



submitted by : oe2
# of Streets = 16, Sum = 62

10

submitted by : MrWutki
# of Streets = 16, Sum = 96




submitted by : puzzler05
# of Streets = 15, Sum = 44

submitted by : Houk13
# of Streets = 15, Sum = 59

10



submitted by : Hazakura
# of Streets = 14, Sum = 53

submitted by : ByronosaurusRex
# of Streets = 14, Sum = 80



submitted by : timjamiller
# of Streets = 13, Sum = 45

11

submitted by : bacmagl
# of Streets = 11, Sum = 38




submitted by : WIM submitted by : ad03
# of Streets = 11, Sum = 57 # of Streets = 8, Sum =0



submitted by : gori.sh submitted by : KuroTent
# of Streets = 8, Sum =0 # of Streets = 8, Sum =0



submitted by : rob
# of Streets =0, Sum =0
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Submissions to Puzzle 11
DIAMONDS



® & O
¢ (/6|6 O
¢
| (&6 O
® & O
¢ ¢ o
¢ |o

¢
¢ |
¢ |¢ \Ah AR 4
¢
| & O \Ah AR 4
¢ ¢ |¢
L4 L4 ¢
¢
¢ ¢

submitted by : Hunsudoku
Diamonds = 25, Area = 56

submitted by : Christian
Diamonds = 36, Area = 168
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submitted by : Hugo
Diamonds = 36, Area = 154

submitted by : lukasz6500
Diamonds = 36, Area = 143
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submitted by : panista
Diamonds = 36, Area = 154

submitted by : scorpprocs
Diamonds = 36, Area = 160
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submitted by : Alex1999
Diamonds = 37, Area = 168
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submitted by : EKBM

Diamonds = 37, Area = 130
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submitted by : EoHeongMat
Diamonds = 37, Area = 144
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submitted by : forcolin
Diamonds = 37, Area = 96
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submitted by : JoeHow
Diamonds = 37, Area = 165

submitted by : kiwijam
Diamonds = 37, Area = 154
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submitted by : Mihalich submitted by : Nikola

Diamonds = 37, Area = 150 Diamonds = 37, Area = 156
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submitted by : qw014052
Diamonds = 37, Area = 132

submitted by : bacmag1
Diamonds = 38, Area = 144
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submitted by : jaan
Diamonds = 38, Area = 130

submitted by : oe2
Diamonds = 38, Area = 180
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submitted by : TiiT
Diamonds = 38, Area = 154

submitted by : tomek_s
Diamonds = 38, Area = 180
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submitted by : anurag

Diamonds = 39, Area = 156
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submitted by : ByronosaurusRex

Diamonds = 39, Area = 156
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submitted by : deu
Diamonds = 39, Area = 165
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submitted by : Hazakura
Diamonds = 39, Area = 156
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submitted by : leoranger

Diamonds = 39, Area = 169

submitted by : SN Sam
Diamonds = 39, Area = 144




oo

¢
o (o0
¢

¢
L JR 4K AR 2K 2

¢ |
¢ ¢
¢ o6 O
¢ ¢ ¢
¢ (& ¢ O
¢ ¢ |o
¢ |o
o (O
¢ |o
¢ 6 (O
@

submitted by : thirtyeight
Diamonds = 39, Area = 150

submitted by : WTM
Diamonds = 39, Area = 144
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submitted by : LauLot57
Diamonds = 40, Area = 121

submitted by : OlgaShut
Diamonds = 40, Area = 143
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submitted by : SP1
Diamonds = 40, Area = 143

submitted by : Veronika
Diamonds = 40, Area = 140
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submitted by : WA1729 submitted by : athin

Diamonds = 40, Area = 110 Diamonds = 41, Area = 143
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submitted by : Pierdante
Diamonds =41, Area = 112
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submitted by : BogdanG
Diamonds = 42, Area = 156
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submitted by : gori.sh
Diamonds = 42, Area = 182
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Submissions to Puzzle 12

OPTI-BATTLE WITH LOSSES
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submitted by : anurag submitted by : Christian
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submitted by : EKBM submitted by : Hugo
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submitted by : lukasz6500 submitted by : Mihalich
N=59,A=2,B=4C=6D=7 N=59,A=2B=4C=6D=7



~ ~ =~ |~ =~ |~ ~ =~ |~
~ ~ =~ |~ =~ |~ |~ =~ |~ |~
~ |~ |~ ~ |~ |~ ~ ~ ~ |~
~ |~ |~ |~ ~ |~ ~ |~ |~ |~ =~
submitted by : panista submitted by : SP1
N=59,A=2,B=4,C=6,D=7 N=59,A=2,B=4,C=6,D=7
~ ~ =~ |~ =~ |~ =~ |0 |~ |~

=~ |~ ~ ~ ~ ~ =~ | |~

~ ~
= =
~ |0 |~ ~ ~ ~ ~ ~ ~
~ |0 |~ |~ =~ |~ =~ |~ =~ |~ ~
submitted by : Alex1999 submitted by : EoHeongMat
N=58 A=2,B=4,C=6,D=6 N=58,A=2,B=4,C=6,D=6
=~ |~ ~ |~ |~ ~ |0 |~ |~ ~ |~
~ ~ |~ |~ ~ ~ |~ ~
= = | =~| =~ = = | =~ =
~ =~ |= |=—= ~ =~ |== ~
~ ~
= =
~ |~ |~ |~ ~ ~ ~
~ |~ ~ ~ ~
~ ~ ~ ~ ~ ~

submitted by : forcolin submitted by : JoeHow
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submitted by : mstang submitted by : tomek_s
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submitted by : kiwijam submitted by : Nikola
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